
INSULATED 
ACCESS DOORS 

TAB STYLE

UNION LABEL 
INSULATED ACCESS 
DOORS TAB STYLE

INSULATED 
ACCESS DOORS 

SELF STICK STYLE

UNION LABEL
 INSULATED 

ACCESS DOORS 
SELF STICK STYLE

VISION PANEL 
INSULATED ACCESS 

DOORS

UNION LABEL 
HIGH PRESSURE 
ACCESS DOORS

DUCT BOARD 
ACCESS 
DOORS

Hinged 
(DAD)

Cam Only 
(DADC)

Hinged 
(YDAD)

Cam Only 
(YDADC)

Hinged
(NHSAD)

Cam Only 
(NCSAD)

Hinged
(YHSAD)

Cam Only 
(YCSAD)

Hinged
(DADVP)

Cam Only
(DADCVP)

Cam Only
(YCCSADC) (DBD)

4x4 6100 6130 6110 6140 • • 7271 7272 • • 6001 •
6x6 6101 6131 6111 6141 7046 7056 7310 7320 1002 1032 6002 •
8x8 6102 6132 6112 6142 7047 7057 7311 7321 1003 1033 6003 36066

10x10 6103 6133 6113 6143 7048 7058 7312 7322 1004 1034 6004 36067
12x12 6104 6134 6114 6144 7049 7059 7313 7323 1005 1035 6005 •
14x14 6105 6135 6115 6145 7050 7060 7314 7324 1006 1036 6006 •
16x16 6106 6136 6116 6146 7051 7061 7315 7325 1007 1037 6007 •
18x12 • • • • 7052 7062 7316 7326 • • 6008 •
18x18 6107 6137 6117 6147 7053 7063 7317 7327 1008 1038 6009 •
20x20 6108 6138 6118 6148 7054 7064 7318 7328 1009 1039 6010 •
24x24 6109 6139 6119 6149 7055 7065 7319 7329 1010 1040 6011 •

Specialty sizes & metals available upon request.  Walk-through doors available upon request.  For information on Clamshell Style Doors, please see Dyn-O-Mate Catalog.

CONTROL SWIVEL
ITEM# CODE DESCRIPTION
8186 DSC516 Fits 1/4’’ & 5/16’’ rods

SRST SERIES - SQUARE DUCT
ITEM# CODE REGULATOR SHAFT SIZE STAND 

HEIGHT
8184 SRST 1-148 SRHS-148 1/4” sq. 1”
8318 SRST 1-1/2-148 SRHS-148 1/4” sq. 1-1/2”
8196 SRST 2-148 SRHS-148 1/4” sq.  2”

8019 SRST 1-388 SRHS-388 3/8” sq. 1”
8020 SRST 1-1/2-388 SRHS-388 3/8” sq. 1-1/2”
8021  SRST 2-388 SRHS-388 3/8” sq.  2”

GASKETING

SP5
SP10

SL1L

LOCKING DEVICES
ITEM# CODE SHAFT SIZE

8105 SP5 1/4” dia.
8106 SP10 3/8” dia.
8107 SP20 1/2” dia.

8138 CMLK (CAM-LOCK)

6305 SL1L
8397 SL2
8182 A1SF

STAINLESS STEEL LOCKING DEVICE
ITEM# CODE SHAFT SIZE
8396 CMLK-SS (CAM-LOCK)

SP20

CMLK

JIFFY DAMPERS

HAMMER ON DAMPER HARDWARE & ACCESSORIES

QJDE
ITEM# CODE FOR DUCT 

SIZE DIA.
6238 QJDE5H 5”
6239 QJDE6H 6”
6240 QJDE7H 7”
6241 QJDE8H 8”
6245 *QDEH6HW 6”
6246 *QDEH7HW 7”

*QDEHW contain handle, wing  
nut & washer attached 

MULTI-BLADE DAMPER HARDWARE

 TEST PORTS
ITEM# CODE INSIDE

DIAMETER HEIGHT

8036 TH1 1-1/16'' 1''

8398 IP2 1-1/8'' 2''
8340 IP4 3/4'' 1''

TH1

IP4

IP2

INSTRUMENT TEST PORTS

STANDOFF WITH STAMPLINE REGULATOR

JDS
ITEM# CODE FOR DUCT 

SIZE DIA.
8092  JDS4 4”
8093 JDS5  5”
8094 JDS6  6”
8095 JDS7  7”
8096 JDS8  8”
8097 JDS9  9”
8137 JDS10 10”
7188 JDS12 12”
7189 JDS14 14”

JD
ITEM# CODE FOR DUCT 

SIZE DIA.
8098 JD4  4”
8099 JD5 5”
8100 JD6  6”
8101 JD7 7”
8146 JD8  8”
8140  JD10 10”

END BEARINGS

QUADLINE REGULATORS

3/8 QUADRANT SET
ITEM# CODE SET CONSISTS OF:

8050 KS38 K-4 quadrant; KP-9R round end bearing; KP-9S square end bearing

8051 KS385 K-4 quadrant; KP-7 spring loc bearing; KP-9S square end bearing
8049 KS385L K-4 quadrant; KP-7L long spring loc bearing; KP-9L long square end bearing
8059 K4 3/8” quadrant only 

1/2” QUADRANT SET
ITEM# CODE SET CONSISTS OF:

8052 KS12 K-5 quadrant; KP-10R round end bearing; KP-10S square end bearing

8060 K5 1/2” quadrant only 

1/2” SHAFT LOC QUADRANT SETS (FOR DAMPERS UP TO 30”)

3/8” QUADRANT SETS  (FOR DAMPERS UP TO 20”)

1/2” QUADRANT SETS (FOR DAMPERS UP TO 30”)

K5

K4

3/8” DIAL REGULATOR SETS (FOR DAMPERS UP TO 20”)

1/4” DIAL REGULATOR SETS
ITEM# CODE SET CONSISTS OF

8040 KS14 K-2 regulator; KP-8S square end bearing; KP-8R round end bearing

8041 KS145 K-2 regulator; KP-6 spring loc bearing; KP-8S square end bearing 

8047 KS145L K-2 regulator; KP-6L long spring loc bearing; KP-8L long square end bearing

7384 KS145XLS K-2 regulator; KP-6 spring loc bearing; KP-8XL extra long square end bearing
8056 K2 1/4” dial regulator only

3/8” DIAL REGULATOR SETS
ITEM# CODE SET CONSISTS OF

8044 KSR19 KR-3 regulator; KP-9R round end bearing; KP-9S square end bearing

8045 KSR195 KR-3 regulator; KP-7 spring loc bearing; KP-9S square end bearing

8139 KSR195L KR-3 regulator; KP-7L long spring loc bearing; KP-9L long square end bearing

7383 KSR195XLS KR-3 regulator; KP-7 spring loc bearing; KP-9XL extra long square end bearing

8058 KR3 3/8” dial regulator only 

8272 KR3SS Stainless Steel  3/8” dial regulator only

3/8” “WEDGE LOC” REGULATOR SETS
ITEM# CODE SET CONSISTS OF

8042 KS19 K-3 regulator; KP-9R round end bearing; KP-9S square end bearing

8043 KS195 K-3 regulator; KP-7 spring loc bearing; KP-9S square end bearing
8048 KS195L K-3 regulator; KP-7L long spring loc bearing; KP-9L long square end bearing

1/4” DIAL REGULATOR SETS (FOR DAMPERS UP TO 10”)

3/8” “WEDGE LOC®”  REGULATOR SETS (FOR DAMPERS UP TO 20”)

SPEC-SEAL  UNIVERSAL REGULATOR SET

FOR CONTROLLING LARGER DAMPERS

KR3

K2

K3

SRST

JDS JD QJDE

HDJD**
ITEM# CODE FOR DUCT 

SIZE DIA.
7077 HDJD4 4”
7078 HDJD5 5”
7163 HDJD6  6”
7164 HDJD7 7”
7165 HDJD8  8”
7166 HDJD9 9”
7167 HDJD10  10”
7168 HDJD12  12”
7169 HDJD14 14”
7170 HDJD16 16”
7273 HDJD18 18”
7274 HDJD20 20”
7275 HDJD22 22”
7276 HDJD24 24”

LOCKING DEVICES

SRST SERIES - ROUND DUCT
ITEM# CODE REGULATOR SHAFT SIZE STAND 

HEIGHT
7353 SRST1R-148 SRHS-148 1/4” sq. 1”
7354 SRST1-1/2R-148 SRHS-148 1/4” sq. 1-1/2”
7355 SRST2R-148 SRHS-148 1/4” sq.  2”

7350 SRST 1R-388 SRHS-388 3/8” sq. 1”
7351 SRST 1-1/2R-388 SRHS-388 3/8” sq. 1-1/2”
7352  SRST 2R-388 SRHS-388 3/8” sq.  2”

SRST-R

1/2” SHAFT LOC QUADRANT SET
ITEM# CODE SHAFT DESCRIPTION

8063 KL7 1/2” Square Shaft Loc Quadrant

8064 KL7R 1/2” Round Shaft Loc Quadrant

8/4/2023

STANDOFF REGULATORS

K2 SERIES FOR SQUARE DUCT

ITEM# CODE SHAFT SIZE STAND 
HEIGHT

7364 K2-1 1/4” sq. 1”
7365 K2-150 1/4” sq. 1-1/2”
7366 K2-2 1/4” sq.  2”

KR SERIES FOR SQUARE DUCT
ITEM# CODE SHAFT SIZE STAND HEIGHT
8304 KR3-1 3/8” sq. 1”
8310 KR3-150 3/8” sq. 1-1/2”
7360 KR3-2 3/8” sq.  2”

STAINLESS KR SERIES FOR SQUARE DUCT
ITEM# CODE SHAFT SIZE STAND HEIGHT
7290 KR3SS-100 3/8” sq. 1”
7292 KR3SS-150 3/8” sq. 1-1/2”
7294 KR3SS-200 3/8” sq.  2”

K2 SERIES FOR ROUND DUCT
ITEM# CODE SHAFT SIZE STAND 

HEIGHT
7362 K2R-1 1/4” sq. 1”
8197 K2R-150 1/4” sq. 1-1/2”
7363 K2R-2 1/4” sq.  2”

KR SERIES FOR ROUND DUCT
ITEM# CODE SHAFT SIZE STAND HEIGHT
7361 KR3R-1 3/8” sq. 1”
8366 KR3R-150 3/8” sq. 1-1/2”
7359 KR3R-2 3/8” sq.  2”

STAINLESS KR SERIES FOR ROUND DUCT
ITEM# CODE SHAFT SIZE STAND HEIGHT
7291 KR3SS-100R 3/8” sq. 1”
7293 KR3SS-150R 3/8” sq. 1-1/2”
7295 KR3SS-200R 3/8” sq.  2”

STANDOFF WITH 1/4” DIAL REGULATOR (FOR DAMPERS UP TO 10”)

STANDOFF WITH 3/8” DIAL REGULATOR (FOR DAMPERS UP TO 20”)

K2 K2R

KR3 KR3R

RAPIT® REGULATOR SETS
ITEM# CODE CONSISTS OF:

8087 RB56 1 RB-50 Rapit spring bearing; 1 RP-3 washer; 1 RP-2 wing nut

8086 RS156 1 RB-50 Rapit spring bearing; 1 RP-3 washer; 1 RP-1 handle; 1 RP-2 wing nut

8085 RS256 2 RB-50 Rapit spring bearings; 1 RP-3 washer; 1 RP-1 handle; 1 RP-2 wing nut

8233 RS356 1 RB-50 Rapit spring bearing; 1 RB-25T threaded Rapit solid bearing; 1 RP-3 
washer; 1 RP-1 handle; 1 RP-2 wing nut

RAPIT® REGULATOR PARTS
ITEM# CODE DESCRIPTION

8088  RB50 Rapit spring bearing 

8201 RB25T Threaded Rapit bearing

8089 RP1 Rapit handle

8090 RP2 Rapit wing nut

8091 RP3 Rapit washer

7190 RP3-50NEO RB50 washer with neoprene

7191 RP3-25NEO RB25 washer with neoprene

7079 USEA516 Universal Slide Rapit Extension
7308 SRE14-14 Slide Rapit Extension

7388 REC14 1/4” Square Rapit Extension 2-3/4” long

7349 RP2E 5/16-18 Stamped Wing Nut

 DAMPER BLADE EDGINGS    
ITEM# CODE DESCRIPTION LENGTH

2151 BKDBE2 White Vinyl 6 ft.

2156 BKDBE3 Grey Vinyl 6 ft.

 STAINLESS STEEL SIDE SEALS    
ITEM# CODE DESCRIPTION

2077 BKSS Side Seal

2154 BKDSE-SSN Side Edging 1-1/2”

2155 BKDSE-SSW Side Edging 2.59”

*For large runs, custom punched designs available upon request

BLADE EDGING SIDE SEALS
BKSS

BKDSE-SSN

HINGES

HH2

HANGING STRAPFIRE DAMPER HARDWARE
FIRE DAMPER HARDWARE

ITEM# CODE DESCRIPTION DIM. A DIM. B
2032 FLS39 Temperature rating 165O  10 lb. load 1” 1-1/2”
2033 FL43 Temperature rating 165O  30 lb. load 1-3/4” 2-9/16”
2034 FL41 Temperature rating 212O  30 lb. load 1-3/4” 2-9/16”

BUTT HINGE/ ‘T’ HINGE
ITEM# CODE SIZE DESCRIPTION

8109 HH2 2” x 1 - 9/16”
Light, narrow butt hinge,
fast pin, w/ screw holes, 

zinc plated

PIANO HINGES
ITEM# CODE SIZE DESCRIPTION
8120 HPH116 1-1/16” x 3’ Piano hinge, with 

holes, zinc plated8121 HPH112 1-1/2” x 3’

FL

HANGING STRAP
ITEM# CODE  SIZE

10181 VDS200C Vinyl Duro Strap 1-1/2” x 200’

10180 NS300 Nova Strap 1-3/4” x 300’

13250 GS161-200 Galvanized Hanging Strap 1in-16 Gauge

13251 GS181-200 Galvanized Hanging Strap 1in-18 Gauge

13252 GS221-200 Galvanized Hanging Strap 1in-22 Gauge

13253 GS241-200 Galvanized Hanging Strap 1in-24 Gauge

13254 GS261-200 Galvanized Hanging Strap 1in-26 Gauge

13285 GS221-100 Galvanized Hanging Strap 1in-22 Gauge

13291 GS241-100 Galvanized Hanging Strap 1in-24 Gauge

13292 GS261-100 Galvanized Hanging Strap 1in-26 Gauge

13281 GS281-100 Galvanized Hanging Strap 1in-28 Gauge

13166 GS301-100 Galvanized Hanging Strap 1in 30 Gauge

13286 GS2215-100 Galvanized Hanging Strap 1-1/2in-22 Gauge

13294 GS2415-100 Galvanized Hanging Strap 1-1/2in-24 Gauge

13295 GS2615-100 Galvanized Hanging Strap 1-1/2in-26 Gauge

13282 GS2815-100 Galvanized Hanging Strap 1-1/2in-28 Gauge

13167 GS3015-100 Galvanized Hanging Strap 1-1/2in-100ft 30 Gauge

13249 PGS2434-100 Perforated Galvanized Hanging Strap 3/4in-100ft 24 Gauge

13339 PGS261-100 Perforated Galvanized Hanging Strap 1in -100ft 26 Gauge

13343 PGS281-100 Perforated Galvanized Hanging Strap 1in -100ft 28 Gauge

13168 PGS301-100 Perforated Galvanized Hanging Strap 1in-100ft 30 Gauge

13169 PGS3015-100 Perforated Galvanized Hanging Strap 1-1/2in-100ft 30 Gauge

13182 PPF34-100 Perforated Plastic Hanging Strap 3/4in-100ft

A
B

HPH116
HPH112

NYLON DYN-O-TIES®

STAINLESS STEEL DYNA-CLAMPS™

DYNA-CLAMPS
ITEM # CODE MAXIMUM DIAMETER MINIMUM DIAMETER OVERALL LENGTH

7012 DT7WD 7” 1.75” 23.5”

7007 DT8WD 8” 1.75” 28.25”

7008 DT10WD 10” 1.75” 33”

7009 DT12WD 12” 1.75” 40”

7010 DT15WD 15” 1.75” 48.75”

7011 DT16WD 16” 1.75” 52.5”

7013 DT18WD 18” 1.75” 57.31”

7044 DT20WD 20” 1.75” 63.58”

DYN-O-TIE TOOL
ITEM # CODE DESCRIPTION

7343 DIT3 For use with nylon ties

DIT3

Spring Loc Example
KP6 #8065:

A A

B B

ITEM# APPROX. DIM.
8065 1/4’’(A) x 2’’(B)

Square Example
KP8S #8068:

ITEM# APPROX. DIM.
8068 1/4’’(A) x 1-1/8’’(B)

SPRING LOC
ITEM# CODE APPROX. DIM.
8065 KP6 1/4’’ x 2’’
8066 KP7 3/8’’ x 2-11/16’’

SPRING LOC LONG
ITEM# CODE APPROX. DIM.
8241 KP6L 1/4’’ x 3-1/4’’
8242 KP7L 3/8’’ x 3-3/4’’

7396 KP7L-SS
Stainless

3/8” x 3-3/4”

ROUND
ITEM# CODE APPROX. DIM.
8070 KP9R 3/8’’ x 1-1/8’’
8073 KP10R 1/2’’ x 1-1/4’’

7394 KP10R-SS
Stainless

1/2” x 1-1/4”

1/4” SQUARE THREADED
ITEM# CODE APPROX. DIM.
8075 KP5 1/4’’ x 1-1/8’’
8079 KP5XL 1/4’’ x 3-1/8’’

1/4” SQUARE
ITEM# CODE APPROX. DIM.
8068 KP8S 1/4’’ x 1-1/8’’
8069 KP8L 1/4’’ x 2-1/8’’
8077 KP8XL 1/4’’ x 3-1/8’’
6270 KP8XXL 1/4’’ x 3-7/8’’
6272 KP8XXXL 1/4’’ x 4-7/8’’

3/8” SQUARE
ITEM# CODE APPROX. DIM.
8071 KP9S 3/8’’ x 1-1/8’’
8072 KP9L 3/8’’ x 2-1/8’’
8247 KP9XL 3/8’’ x 3-1/8’’
6271 KP9XXL 3/8’’ x 3-7/8’’
6273 KP9XXXL 3/8’’ x 4-7/8’’

7393 KP9XL-SS
Stainless

3/8” x 3-1/8”

1/2” SQUARE
ITEM# CODE APPROX. DIM.
8074 KP10S 1/2’’ x 1-1/4’’
8179 KP10L 1/2’’ x 2-1/4’’

7395 KP10S-SS
Stainless

1/2” x 1-1/4”

NEVA-BIND™ DURO BLADE KIT FOR PARALLEL DAMPERS

PARALLEL
ITEM# CODE BEARING SIZE
2002 BK2 1/2” ID.

OPPOSED
ITEM# CODE BEARING SIZE

2003 BKO3 7/16” ID.
2004 BKO4 1/2” ID.

OPAX® BLADE KIT FOR OPPOSED ACTION DAMPERS

Standard Bracket as 
supplied in BK-1 and 
BK-2 Parallel Kits.

BKP22

BKP13

BKP71

STANDARD & SET SCREW
ITEM# CODE DESCRIPTION

2016 BKP13 Strap and set screws

2052 BKP56SS Stainless strap/screw

2134 BKP35 1/4-28x1/2” set screw

     HIGH BRACKETS
ITEM# CODE DESCRIPTION

2008 BKP22 High bracket as supplied in 
Opax Blade Kits BKO-3 and 

BKO-4

2011 BKP25 High bracket (not Neva-Bind) 
with brass pivot & steel set 

screw (not shown)

8034 SRP40 1/4” Splitter damper bracket

8035 SRP50 5/16” Splitter damper bracket

2049 BKP52SS Stainless BKP-22

2047 BKP50SS Stainless BKP-25   

LOW BRACKETS
ITEM# CODE DESCRIPTION

2009 BKP23 Low bracket and linkage rod as 
supplied in Opax blade kits

2010 BKP24 Low bracket (not Neva-Bind) 
with brass pivot & steel set 

screw (not shown) 

2058 BKP54SS Stainless low bracket/
pivot/screw

2062 BKP62SS Stainless low bracket/
pivot/lollypop

SELF ALIGN & SET SCREW
ITEM# CODE DESCRIPTION
2025 BKP71 Self-aligning strap and set 

screws. “V” groove does not 
deform blade.

BKP10

BKP82

BKP81

BUSHINGS
ITEM# CODE DESCRIPTION

2267 BKPRB81 1/4” Square ID rubber bushings

2269 BKPRB83 3/8” Square ID rubber bushings

2012 BKP9 Bronze bushings 7/16” dia. ID as 
supplied in BK-1 parallel blade kits 

and BKO-3 Opax kits.
2013 BKP10 Bronze bushings 1/2” dia. ID as 

supplied in BK-2 parallel blade kits 
and BKO-4 Opax kits.

2240 BKP80 Plastic bushing 1/4” dia. ID is 
designed for use with KP6 & KP6L 

spring loc bearings only.

2241 BKP81 Plastic bushing 1/4” sq. ID

2242 BKP82 Plastic bushing 3/8” dia. ID is 
designed for use with KP7 & KP7L 

spring loc bearings only.

2079 BKP64 Plastic bushing 1/2” dia. ID

2244 BKP84 Plastic bushing 1/2” sq. ID

2261 BKP30P Closed flanged ball bearing 
bushing 1/2” ID

2280 BKP38THD 3/8” Square Heavy duty 
3/4 OD bushing

2277 BKP83T 3/8” Square Loc Bushing

2085 BKP49SS Stainless 1/2” bushing

BKP30P

  STANDARD BRACKETS     
ITEM# CODE ROD SIZE

2005 BKP814 1/4”

2006 BKP856 5/16”

2007 BKP838 3/8”

BKP814
 

BKP23

PIVOT
ITEM# CODE DESCRIPTION

2135 BKP36 1/4-28 brass pivot 
half Tapped

2133 BKP34 1/4-28 brass pivot 
fully tapped

HAT BRACKET
ITEM# CODE DESCRIPTION

2075 BKHS38 3/8” hat bracket 22ga

BKHS38

BKP36

DBP1A

STANDARD PINS
ITEM# CODE DESCRIPTION

2017 BKP1 7/16” diameter pin 2-1/2” long

2019 BKP5 1/2” diameter pin 2-1/2” long

2020 BKP6 1/2” diameter pin 6” long

2051 BKP55SS Stainless 1/2” diameter pin 2-1/2” long

2068 BKP63SS Stainless 1/2” diameter pin 6” long

SLIDE PINS
ITEM# CODE APPROX. PIN SIZE
2094 DBP1A 7/16” diameter and 1/2” 

diameter slide pin, 5/8” length

2067 DBP1 Damper blade pin only

ROD COUPLING
ITEM# CODE DESCRIPTION
2239 BKP3812  3/8” square to 1/2’’ 

round rod coupling

DSC516

BKP1

BKP3812

KP25

ROD CLIPS (U-BOLTS)
ITEM# CODE DESCRIPTION

8053 KP25 3/8” damper rod clips 

8054 KP26 1/2” damper rod clips

8055 KP27 5/8” damper rod clips 

7397 KP25SS Stainless 3/8” damper rod 
clips w/ Nyloc nut

A1SF  

MULTI-BLADE DAMPER PARTS 

MILLED & DRILLED PINS
ITEM# CODE DESCRIPTION

2076 BKP116 1/2” diameter, 6” long, milled 
and drilled pin

2115 BKP113 1/2” diameter, 3 1/2” long, 
milled and drilled pin

ROUND TO SQUARE PINS
ITEM# CODE DESCRIPTION

2022 BKP4 7/16” diameter to 1/2” 
square, 6” long

2023 BKP7 1/2” diameter to 1/2” 
square, 6” long

2024 BKP70 7/16” diameter to 3/8” 
square, 6” long

LONG SLIDE PINS - ROUND & SQUARE
ITEM# CODE APPROX. PIN SIZE

2221 RDBP100A 1/2” round pin 1” long

2222 RDBP150A 1/2” round pin 1½” long

2223 RDBP200A 1/2” round pin 2” long

2215 SDBP100A 3/8” sq. pin 1” long

2217 SDBP200A 3/8” sq. pin 2” long

SDBP

BKP7

BKP116

ACCESS DOORS 

DAD
DADC

YDAD YHSAD
DBD

STAMPLINE REGULATORS

1/4” “JIFFY” REGULATOR SETS
ITEM# CODE SET CONSISTS OF

8039 KS7 KP5 1/4” threaded bearing, handle; KP-6 spring loc bearing, 
bevelled wingnut & washer 

8046 KS7L KP5L 1/4”  long threaded bearing, handle; KP-6L  long spring loc bearing, 
bevelled wingnut & washer 

1/4” “JIFFY” REGULATOR SETS (FOR DAMPERS UP TO 10”)
FOR CONTROLLING SMALL DAMPERS

KS7

BKDSE-SSW

 RB50   RP1 RP3

 RB25T

USEA

REC14

RP3-50NEO

RP3-25NEO

VDS200C 

SRH

INDICATOR STYLE REGULATOR SETS WITH HEX NUT OR ACORN NUT

HANDLE REGULATOR SETS WITH HEX NUT OR ACORN NUT

HANDLE STYLE (STAMPED) REGULATOR SETS WITH HEX NUT OR ACORN NUT 

Regulator Height 5/8” Regulator Height 1-3/8”

SR SERIES
ITEM# CODE SHAFT SIZE & NUT
8003 SR380 3/8” - Acorn Nut
8005  SR120 1/2” - Acorn Nut

SR SERIES
ITEM# CODE SHAFT SIZE & NUT
8002 SR148 1/4” - Acorn Nut
8004 SR388 3/8” - Acorn Nut
8006  SR128 1/2” - Acorn Nut

SRS SERIES
ITEM# CODE SHAFT SIZE & NUT
8022 SRS148 1/4” - Acorn Nut
8023 SRS388 3/8” - Acorn Nut
8024 SRS128 1/2” - Acorn Nut

SRH SERIES
ITEM# CODE SHAFT SIZE & NUT
8012 SRH280 3/8” - Hex Nut
8014 SRH220 1/2” - Hex Nut

SR

SRH SERIES
ITEM# CODE SHAFT SIZE & NUT
8011 SRH248 1/4” - Hex Nut
8013 SRH288 3/8” - Hex Nut
8015 SRH228 1/2” - Hex Nut

Regulator Height 5/8”

SRH

Regulator Height 1-3/8”

SR

SRHS SERIES
ITEM# CODE SHAFT SIZE & NUT
8016 SRHS148 1/4” - Hex Nut
8017 SRHS388 3/8” - Hex Nut
8018 SRHS128 1/2” - Hex Nut

SRHS SRS

Regulator Height 5/8” Regulator Height 1-3/8”

90º ANGLE DRIVE DIE CAST MITRE GEAR ASSEMBLYCONCEALED STYLE REGULATOR SETS WITH HEX NUT

Will accommodate
3/8” square rod from duct

OPEN END BEARING (CAST ALLOY) CLOSED END BEARING (CAST ALLOY)

OPEN END
ITEM# CODE SHAFT SIZE
8025 SB114 1/4” sq.
8027 SB138 3/8” sq.
8029 SB112 1/2” sq.

CLOSED END
ITEM# CODE SHAFT SIZE
8026 SB314 1/4” sq.
8028 SB338 3/8” sq.
8030 SB312 1/2” sq.

AD SERIES
ITEM# CODE DESCRIPTION
8135 AD38 Mitre Gear Assembly

SRC SERIES
ITEM# CODE SHAFT SIZE
8007 SRC140 1/4” sq.
8008 SRC380 3/8” sq.

SPLITTER BRACKETS 
ITEM# CODE SHAFT SIZE
8034 SRP40 1/4”
8035 SRP50 5/16”

BALL JOINTS
ITEM# CODE SHAFT SIZE
8032 SRP14 1/4”
8033 SRP516 5/16”

SB SB

SRP
SRP

AD38

SPLITTER DAMPER BRACKETS BALL JOINT DAMPER CASTINGS

SPECLINE® REGULATORS

SRC

SPECLINE® PARTS AND ACCESSORIES

BKDBE2 BKDBE3

NYLON DYN-O-TIES
ITEM # CODE DESCRIPTION COLOR LENGTH MAX. DIA.

6298 DDN36 Nylon - USA Made Natural 36” 11”

6299 DDN48 Nylon - USA Made Natural 48” 14”

7002 UVDN48 UV Resistant Nylon
USA Made Black 48” 14”

7003 UVDN36 UV Resistant Nylon 
USA Made Black 36” 11”

7004 DN36N Nylon - Imported Natural 36” 11”

7005 DN48N Nylon - Imported Natural 48” 14”

ESO - SEAL KIT
ITEM# CODE SHAFT SIZE
7245 SESO-38-214 3/8” X 2-1/4”

ECONOMY DAMPER HARDWARE
ITEM# CODE DESCRIPTION
7031 ES14    1/4” Econo-Stud
7033 ES14W 1/4-20 Stamped Wing Nut
7035 ES14NW-NEO 1/4” Washer with Neoprene

DOUBLE SIDED BLACK FOAM GASKET
ITEM# CODE DESCRIPTION LENGTH
7197 BF2S18-100 1/8” x 1” 108’/RL
7199 BF2S18-112 1/8” x 1-1/2” 108’/RL

MINI DYN-O-TIES
ITEM # CODE DESCRIPTION COLOR LENGTH MAX. DIA.
6250 DDNM05M Nylon Natural 5.91” 1.38”

6251 DDNM05UVM Nylon Black 5.91” 1.38”

6252 DDNM08M Nylon Natural 7.87” 1.97”

6253 DDNM08UVM Nylon Black 7.87” 1.97”

6254 DDNM11M Nylon Natural 11.02” 2.76”

6255 DDNM11UVM Nylon Black 11.02” 2.76”

6256 DDNM14M Nylon Natural 14.57” 4.02”

6257 DDNM14UVM Nylon Black 14.57” 4.02”

BKP34

VINYL FOAM (PVC)
ITEM# CODE DESCRIPTION LENGTH
8123 PVC1812 1/8” x 1/2” 50’/RL
8124 PVC1434 1/4” x 3/4” 50’/RL
8125 PVC3834 3/8” x 3/4” 25’/RL

URETHANE
ITEM# CODE DESCRIPTION LENGTH
8126 UF312 3/16” x 1/2” 50’/RL
8127 UF1434 1/4” x 3/4” 50’/RL
8128 UF3834 3/8” x 3/4” 25’/RL

NEOPRENE
ITEM# CODE DESCRIPTION LENGTH
8129 BN1812 1/8” x 1/2” 50’/RL
8130 BN1434 1/4” x 3/4” 50’/RL
8131 BN3834 3/8” x 3/4” 25’/RL
8261 BN31634 3/16” x 3/4” 50’/RL
8151 BN51634 5/16” x 3/4” 50’/RL
8149 BN3161 3/16” x 1” 50’/RL
6303 BN142 1/4” x 2” 50’/RL

KL7R
KL7

™

SPEC-SEAL
ITEM# CODE BEARING TYPE

8153 AL38 3/8’’ Square

8154 AL38R 3/8’’ Round

8158 AL38L 3/8’’ Square Long

8152 AL12R 1/2’’ Round

8301 AL12SS Stainless 1/2’’ Square

ECONOMY DAMPER HARDWARE

Duro Dyne Corporation  •  800-899-3876  •  www.durodyne.com

BKPRB81

DADVP
DADCVP

UESO  - UNIVERSAL ESO                                             
ITEM# CODE SHAFT SIZE STAND HEIGHT
6369 UESO-14-100 1/4” sq. 1”
6370 UESO-14-150 1/4” sq. 1-1/2”
6371 UESO-14-200 1/4” sq.  2”
6372 UESO-14-300 1/4” sq. 3”

6373 UESO-38-100 3/8” sq. 1”
6374 UESO-38-150 3/8” sq. 1-1/2”
6375 UESO-38-200 3/8” sq.  2”
6376 UESO-38-300 3/8” sq. 3”

6377 UESO-12-100 1/2” sq. 1”
6378 UESO-12-150 1/2” sq. 1-1/2”
6379 UESO-12-200 1/2” sq.  2”
6380 UESO-12-300 1/2” sq. 3”

Seal Kits Sold Separately.

MINI DYN-O-TIES WITH MOUNTING HOLE
ITEM # CODE DESCRIPTION COLOR LENGTH MAX. DIA.
6367 DNMH08M Nylon Natural 8” 1.97”

6368 DNMH08UVM UV Resistant Nylon Black 8” 1.97”

**All sizes of HDJD are available 
unassembled upon request.

UNIVERSAL STANDOFF REGULATORS

UNIVERSAL REGULATOR
ITEM# CODE DESCRIPTION

8270 MSR03812 3/8” & 1/2” Multisize Regulator Only

UNIVERSAL REGULATOR
Patent #

7,472,699

SPEC-SEAL  END BEARING 
SUPPORT KITS

™

SPEC-SEAL END BEARING SUPPORT KITS
ITEM# CODE BEARING TYPE

8162 EB12R 1/2” Round

DURO-TWIST™

DURO-TWIST                                          
ITEM# CODE SHAFT SIZE STAND HEIGHT
6324 DT38150 3/8” sq. 1-1/2”

DT

STANDOFF WITH ECONOMY HANDLE FOR SQUARE AND ROUND DUCT

UESO

STANDOFF REGULATORS

NEOPRENE UL LISTED
ITEM# CODE DESCRIPTION LENGTH
6339 BN1812UL723 1/8” x 1/2” 50’/RL
6340 BN1434UL723 1/4” x 3/4” 50’/RL
6341 BN3834UL723 3/8” x 3/4” 25’/RL
6343 BN51634UL723 5/16” x 3/4” 50’/RL
6344 BN3161UL723 3/16” x 1” 50’/RL

Heto cut-away 
score line

RP2E

DYNA-CLICK™
STANDOFF REGULATORS

DYNA-CLICK                                        
ITEM# CODE SHAFT SIZE STAND HEIGHT
6320 DC38150 3/8” sq. 1-1/2”
6321 DC38200 3/8” sq. 2”

CAST DYNA-CLICK                                        
ITEM# CODE SHAFT SIZE STAND HEIGHT
6295 CDC38150 3/8” sq. 1-1/2”
6296 CDC38200 3/8” sq. 2”

FVF SERIES
ITEM# CODE DESCRIPTION
6336 FVF14 1/4in Wide Base Hex Nut Regulator
6337 FVF38 3/8in Wide Base Hex Nut Regulator

WIDE BASE HEX NUT REGULATOR

3/8” OPEN-CLOSED REGULATOR SET
ITEM# CODE SET CONSISTS OF

6338 SBKS385L K4 Quadrant, KP9L Long Square End Bearing, KP7L Long Spring Loc Bearing, 
SB138 3/8” Open End Bearing, SB338 3/8” Closed End Bearing

SPECLINE - STAMPLINE REGULATOR SET

HDJD / UESO / BUSHING KITS
ITEM# CODE FOR DUCT SIZE DIA.
6327 HDJD6S 3/8” Shaft w/ 6” Diameter Damper Kit
6328 HDJD8S 3/8” Shaft w/ 8” Diameter Damper Kit
6329 HDJD10S 3/8” Shaft w/ 10” Diameter Damper Kit
6330 HDJD12S 3/8” Shaft w/ 12” Diameter Damper Kit

HDJD DAMPER / UESO38-200 REGULATOR / BKPRB83 BUSHING KITS

HDJD

NHSAD

®

DC

FVF

TITANIUM DYN-O-TIES
ITEM # CODE DESCRIPTION COLOR LENGTH MAX. DIA.

7116 DN36HDG Heavy Duty Titanium 
Nylon - USA Made Gray 36” 11”

7107 DN48HDG Heavy Duty Titanium 
Nylon - USA Made Gray 48” 14” DYN-O-TIE GUN INSTALLATION TOOL

K4

FVF Regulators are also available with a Standoff Base

CDC

NS300 

SPLITTER BRACKETS 
ITEM# CODE SHAFT SIZE
8034 SRP40 1/4”
8035 SRP50 5/16”

SRP RDBP

GS 

PPF34

SCAN FOR MORE 
INFORMATION

1/2’’ Round 3/8’’ Square 3/8’’ Round

Patent #
7,472,699

NCSAD YCSADYDADC
YCCSADC

JIFFY BEARING ASSEMBLIES JB ASSEMBLIES
ITEM# CODE FOR DUCT SIZE DIA.
8102 JB1 1/4” Jiffy Bearing 1-1/8” Shaft
8220 JB1L 1/4” Jiffy Bearing Long 2-1/8” Shaft
8295 JB1XL 1/4” Jiffy Bearing Extra Long 3-1/8” Shaft


